Р №237.

Дано:                                     СИ:                               Решение:

                Км                                 м                                   mv02
vg = 30 _____                       8,3 ___                         S = ______

                 ч                                    с                                  2 Fmp

S = 12 м                                                                      Fmp = mN = мmg

м = 0,6                                                                                 mv02
v = 0                                                                           S = _______


Найти: v0                                                                           2 мmg

v02 = 2мgS
v0 =√2мgS 

                              м                             м            м

v0 = √2∙ 0,6 ∙ 9,8 ____  ∙ 12 м ≈ 11,8 ___ = 12 ___              

                              с2                                           с             с

v0 > vg

       м             м

12 ___ > 8,3 ___

       с              с

                                м              м

Ответ: v0 > vg; 12 ___ > 8,3 ___ , водитель нарушил правила

                                c               с

Р №236.

Дано:                                   Решение:

              м                            Fmp = mа                                 v – v0
v0 = 12 ___                                   v – v0                        t = ______

     с                             Q = ______                                mg     

v = 0                                                t                                    0 – 12 _м_                      

м = 0,4                                 Fmp = мN = мmg             t = _______с____ = 3c

[image: image1.wmf]                                                                                          0,4 ∙ 9,8 _м_                        

Найти: t                                             m(v-v0)                                     с2

                                                      мmg = ________

                                                      t
Ответ: t = 3c
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